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TS SET

1.0ptions shown in green color and with #" icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Subject Name :

Duration:

Total Marks :

Display Marks:

Calculator:

Magnifying Glass Required? :
Ruler Required?:

Eraser Required? :

Scratch Pad Required? :
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Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

SectionId:

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :
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1
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No
Cant View
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0
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Question Number : 1 Question Id : 51714410349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning environment" refer to in the context of education?
&m&éoém&e@ﬁ "ol ararddnin” el 3

Options :

The physical location of an institution.
;’;oé sy &8

1. %
The number of students in a classroom.
5 % S55a65) chrtgi%}t: o8y
The arrangement of furniture in a classroom.
SBKHS DESB esndY
3. ®
The overall context in which learning takes place.
4 CIALNSENY 2260 Bwdgsn S [elaleNtany

Question Number : 2 Question Id : 51714410350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Postgraduate education falls under which level of teaching?
FSEEE Dy @ HB G %;on:tfiﬁ &0EN0H

Options :



Elementary education
[ERHanE D3

Secondary education
E_':Dgéf'édﬁa Alaly

Tertiary education
v éﬁj@@ﬁj D

\Vocational education
4 % aﬁﬁ 3]655

Question Number : 3 Question Id : 51714410351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In offline teaching, where do most interactions between students and the
instructor occur?
58S S5sst, &m@ﬂjﬁ}m S el HBNG Sgen aih ?g@{}

Options:

Virtual discussion boards
. ééﬁé@ oy ﬁﬁéoﬁr;}:n

Online chat rooms

5 % ©BOBS Fo8 Kithen



Social media platforms
sl Setigan S6%en

Face-to-face in the classroom

4 SBKS KBS Sogre S0

Question Number : 4 Question Id : 51714410352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What is the primary focus of SWAYAM Prabha ?

29aDo (547 @BnE) (GrEans S\ 2B ?

Options :

Offering degree programs online.
©88:58° B seEgEsne H8TES

Providing paid specialized courses.
300D HegE Enen domEn Jcsned

2. %
Broadcasting educational content through TV channels.

3 ¢ 8 ort) oxoe Doy DAY, (Hdo Safnes
Conducting in-person workshops and seminars.
Sgohore Stnakaen, HEnen JBerodi

4. #

Question Number : 5 Question Id : 51714410353 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Online quizzes, interactive simulations, and virtual labs are examples of:
©R88 HEen, HBHB eEsnen, SENPS (HArtTon B8 Guesedn

Options :

Traditional teaching methods
Foloeahy Ssar HGeen

1. F
ICT-based assessment tools

5 ICT- esprBe8 3000 DAY
Qutdated educational technologies

3 & S00T0BY Doy FoB8ESen
Non-interactive resources

4 % ‘a’naﬁéﬁéiﬂ Syatien

Question Number : 6 Question Id : 51714410354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Experimental research involves:
(D& 58858 edm

Options :



Observing and describing phenomena without intervening
éﬁééo 088 o iﬁE}E DAce HB8ed DRGs

Manipulating variables to establish cause-and-effect relationships

5 @ o8 (DR Domopredh Dogrobohi® Jemodeid Eavlet) Scsnes

Conducting surveys and interviews to gather opinions
wdgrch DESHD ﬁéé@b, z068m5en DBIerone

Analyzing historical documents and records
4 % TOEg)E dero, bsho A

Question Number : 7 Question Id : 51714410355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Post-positivism in research suggests that:
HBEEHE° By Aredded GrdoHds

Options :
Objective truths can be directly accessed without the influence of human

perception.
Qe garsd derei,dirdd (e €8 8o [De&sEore 366’35}&@.

1. %
Subjective experiences play no role in shaping research outcomes.
- 588080 Hhare Eﬂﬁééﬁ}gﬁa@ﬁ HFars ehifare aklE Gotkth

3.v¥



While objective observation is important, researchers’ interpretations also
matter.

QeyBares 5886 sy, 508550 DHBemen il araingge Hararon.

Research should solely rely on abstract theories rather than empirical
evidence.

508558 CINVARRY Lo i‘vgvgc“:’m_;',_} 58060, wo|ise ?;}mgoﬁﬁ@_;’g il
4 % OGPEHTRD.

Question Number : 8 Question Id : 51714410356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In academic writing, plagiarism refers to:
QG5 Vo0 SS508® nRirBa0 @b

Options :

Using too many references in a paper
28 ajnéﬁa’méﬁ TPEP GTIPaPOETS) Ga)aiPiian

1. %
Quoting a source directly without citation
) o wHBpHo sor (DegEore HHD °tHe

Rewriting someone else's work in your own words
3 % add e HAD A ﬁéﬁéémﬂﬁﬁ SOA (Iecinéd

Properly citing sources to give credit to the original authors

. oden e TErHd SHhed S0 6oroohe
4,



Question Number : 9 Question Id : 51714410357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the typical order of sections in a research article?
2.8 HB8 8 ajnac}f:foéﬁ Derereen Heasreen (B50an 8.

Options :

Methods, Introduction, Results, Discussion, Conclusion, References
a’:utge‘_‘i}m, HBBAHEm, HDeren, Yy, HoHo, Ef_ia:ém

Introduction, Methods, Results, Discussion, Conclusion, References
HBBcHam, éféeiéom:u, PDaren, ), dohoD, ﬁtﬁm?ﬁm

Introduction, Conclusion, Methods, Results, Discussion, References
HBBcHEm, dwhod, égéﬁm, POaren, Y, é;gia:c‘(a@:]

Results, Methods, Introduction, Conclusion, Discussion, References
HOaeen, ﬁtge‘ﬁne_n, 2bSahen, Hwhoc, KB, ﬁ;ﬁa}a‘ﬁﬂ}

Question Number : 10 Question Id : 51714410358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the "Acknowledgments” section in a thesis?
?:mgcué aﬁéf:«:ﬁ}meﬁﬁ é@é@éﬁ} Derldn ©SH830N

Options :



To list all the references used in the research
588055680 éﬁg}é@ eflem SO DSSnd

1. %
To introduce the research methodology
5 % 588858 588 HBIScho Bsne
To acknowledge and thank individuals who contributed to the research
5888555 5%;1&33 é@éj@otﬁﬂé 1800, Hgruren dend)és
3.
To present counterarguments to the research findings
4 % $568%5% pDErer ) (HDHEreOTSHe Sfovnios
Sub-Section Number : 2
Sub-Section Id : 517144422
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 51714410359 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval
to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
K&oE: (Botd mi@id ddrardo sgrdore Q. 11:506 Q 15 D& Jsrgraron

[arahob.

The mansion of Ebenezer Storer, an extensive edifice of wood three stories in height,
was erected in 1700. It was situated on Sudbury Street between two trees of great size
and antiquity. An old English elm of uncommon height and circumference grew in the
sidewalk of the street before the

mansion, and behind it was a sycamore tree of almost equal age and dimensions. It
fronted to the south with one end toward the street. From the gate a broad walk of red
sandstone separated it from a grass-plot which formed the courtyard, and passed the
front door to the office of Mr. Storer. The vestibule of the house, from which a staircase
ascended, opened on either side into the dining and drawing rooms. Both had windows
towards the courtyard and also opened by glazed doors into a garden behind the house.

2836 P66 Ging) o, Hurth wodii IHS KrsS DIBHS ¢fisko, 1700 &°
ABposatod. a6 $60b @éfe‘iﬁ Both Y Joedd By gy sob.gPSo Fwotd 58
SDered® oFrinds o) HBch HipSed EOAS and @of Jf) 3ty Bbrap
B =) o8 Tror) Darn Schi) Hodn Seoden DAY 28 &) 36 58
058 B8m0 SHre Sofod. N H08 B =NETonS’ ErES dTeDS SKE arh,
RE 28D b, SIJTEE 5555 SO Enoth e 3653;)@“0)3. 508 Hakoe
(88 ok Héy 3ndB GIoR B ([Gronoh Erows™d adEder Dison.
00688 DBSD) aakey 6I200. SAh Senden oo 50} 8 68 sheea
%o &ob.

Sub questions

Question Number : 11 Question Id : 51714410360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mansion of Mr. Ebenezer Storer is old and
SJJQE AR 8] ﬂ‘ﬂ;ﬁﬁ :ﬂa;é@r o arsh Hbatm

Options :

stately
KoDBH6.
1.4 e



in ruins
BB OING

uninhabitable
K}aﬂmﬁﬁﬁéo 506

inhospitable
4 % ©8BOSIG

Question Number : 12 Question Id : 51714410361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mansion was built of
EafnTale) &b Eﬁé@ém&o&

Options :

red stone
1. % o8 Teom

sand stone
. =¥ Teon

wood
Eﬁé@,

stones
U“Eﬁ;}



Question Number : 13 Question Id : 51714410362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The courtyard is filled with a patch of
e N0 B & Dol &od

Options :

grass

fale
’|_ =4 (i)

wilderness
65?55:&50

low trees
D) ey

flowering pots
arey Byotsen

Question Number : 14 Question Id : 51714410363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The staircase opened into on one side.
el 3 &) Dép &8 éﬁ:&@ﬂm.




Options :

garden

1. % e

courtyard
, % [(@rofeso

dining room

3 ¥ Hhasamer 16

office

4% sno‘jﬁg@cﬁjo

Question Number : 15 Question Id : 51714410364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The word that means- ‘wide’ in the above paragraph is
2 aoes Dol o ©go a’;ﬁgj 250

Options :

Extensive

| B

circumference
ffaé:g%”@e‘ﬁ

2. %

dimension
3 % BP0



uncommon
ChvEnEe [ v

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

3
517144423
Yes

null

Question Number : 16 Question Id : 51714410365 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

A communication prevents misunderstandings and helps in

establishing a constructive relationship

VRS oarTzol Jardiiod SHidn Jogmrd)E Somoged) DB\BSt0S®

RartChHthenoh.
Options :
positive
1 ¢ FeioEee
passive
5 % Jlepcd
reflective

L x 6B 085585 ¥rlis

retentive
4 % oedes E8 He



Question Number : 17 Question Id : 51714410366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Lack of effective skills is a major barrier in the teaching-learning
process.
ARt 9T BHBaHe® (Hped ©86%50 ﬁa’)ﬁgéoé@é
Glfvtnte
Options :

stress management
2,88 JBres

listening
DVEE JFadesgo

crisis management
K:uogﬁﬁ ABeTEs

time management
2enad ABeE5ees

Question Number : 18 Question Id : 51714410367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Successful intercultural communication depends greatly, when one
other cultures.
=t ﬁoﬁg&é}@:@ &oiiéo Hon, @Deﬁé&@f}g@,& Hogres @tinbEen

Boee Frdod

Options :

praises
1 % (2808

respects
2. faigstle)

practices
LIty

helittles
Eﬁ@ Sy

Question Number : 19 Question Id : 51714410368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

When different people look at the same thing differently, leading to ineffective

communication, it is called barrier.
3’5563 sSgghen 28 AT DPyore L, o SH Siraroeis
m&@?&é@é}, R @08 wotrth
(]
Options :

Psychological
1% BB



physical

, % &8

emotional
w.ﬁa{:ﬁéﬁ

perception

J"I'EI
4V SNIPaTR

Question Number : 20 Question Id : 51714410369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

‘Twitter' and ‘Linkedin’ are examples of media
‘ﬁé&]ﬂg’ 0Bcw '@0%5 : SrggEr8 Greietesen

Options :

social
STy

digital
&Bees

Print
s0o(Bes

Traditional
R0TPCNE DR



Question Number : 21 Question Id : 51714410370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
5, 10, 40, 240, 1920,
Options :

| % 19020

19200

19220

21120
4. %

Question Number : 22 Question Id : 51714410371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

DMP, IOM, |, SS5G, XUD
Options :

1. % MPI



MaQl

2. %
~ NPJ

3. %
NQJ

4. ¢

Question Number : 23 Question Id : 51714410372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word KITE is coded as 4567 and the word
RATE is coded as 8967, then how is the word TAKE coded in that language?

2.8 03) 6 A&’ KITE % HmR) 4567 H0A RATE eF ST
89671 §°6 T W, & 2 TAKE 0% N er 86 Tl

Options:

| 6974

, i 6794

6479

6947



Question Number : 24 Question Id : 51714410373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 2:7. If each is increased by 12 then the ratio of the
resulting first and the second numbers would be 1:3. The second numberis___

DO oL 2.7 DAIBES e ow. (e 2,563 12 DoV S,
HOSOM J0¢5e3 OO B0 AOWES NS 1:3 e26he0R. DO
QoRE_?

Options:

84

o 112

. 126

o 168

Question Number : 25 Question Id : 51714410374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

If the cost price of 16 articles is equal to the selling price of 12 articles, The gain
percentage is
16 360) 8%y ¢ 12 505 @625 HEH DSTH0 eoN®, e7e

¢

Feh0



Options :

| % 16.66%

20%

25%

33.33%

Question Number : 26 Question Id : 51714410375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Statements:
All hills are mountains.
Some rocks are mountains.
All rocks are ropes.
o8 Edcden:
FoBO) DG,
') doen b [Eren.
Conclusions:
l. All hills are ropes.
. No hill is rope.
1. Some ropes are definitely hills.
BT JTeN:
. SoBO) =T.
II. o §0¢s S0t & 5°¢.
1. Q) & ) JS0m Fodsen.

Options:



| follow

Either | or |l follow

2_ W
Il follow
3.
4 Either Il or [l follow.

Question Number : 27 Question Id : 51714410376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

In a class of 10 students, 110 students passed in chemistry and 120 students
failed in Maths, 30 students failed in both the subjects. How many students in
the class failed in at least one subject?

10 00 Derztend) SEKReS” TR 110 H08, HedesoS’ 120 HOA
D sHen oneair i, o Kj@&gff 30 DOO DT EeD

20NOAT . HEHBES” 05D Dsen N0 2.8 PP
OO0 LR?

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

120
1.



160

3 140

4 180

Question Number : 28 Question Id : 51714410377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

How is my father’s father’'s only daughter-in-law’s brother related to me?
S 90 28RSy, 58 35038 5L arogdyo Da0e3?

Options :
Father
1. % el

Paternal Uncle

5 T‘;Jﬁﬁa&vﬁ&
Maternal Uncle

3 ¢ éﬁéjdﬁ}g
Cousin

. % K85



Question Number : 29 Question Id : 51714410378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct with reference to anumana according to
classical Indian school of logic?

P

8O ROG0H® AL @3 e85 [D5E0 BHEPTIE H0DOOOT) &
1808 &3S HBIO TR DO?

Options :

Linga/Sadhana is the middle term
DoRPSH @6 &0gls S0

Paksa is the minor term
28, e é‘.ll?ﬁcl D50

Sadhya is the major term
3 % WP @30 BHerd H%o

Hetu is the minor term
P @36 &Eécl S50
v

Question Number : 30 Question Id : 51714410379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which one of the following is true with respect to the first figure of categorical
syllogism?
5085 T0E) FncheEs @0TH H0220H0D & 1208 TBS A Hesz0?

Options :

The middle term is the subject of the major premise and the predicate of the
minor premise
D D0 VA DT [Hababho TBE) 9040 HOOL D) essd8ea

| AB0EY, |raredSo

The middle term is the predicate of the major premise and subject of the
minor premise
20658 D0 A DY) [Habdhbo TINEY (DT 365856 oDOO5D N6

, x OB0E) [rareso

The middle term is the subject of the major premise and the predicate of the
conclusion

- 0G5 DB0 OO DTN eTE0 HOGW SN0 TBE), ©0F0

The middle term is the subject of the minor premise and the predicate of the
conclusion

0E: N0 RO DY) Habdho HO0W SN0y ABwE) @0%0

4, %

Sub-Section Number : 4
Sub-Section Id : 517144424
Question Shuffling Allowed : No
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Question Numbers : (31 to 35)
Question Label : Comprehension

Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
f1e0E: 180C Red 52060 Qadrerdio esdorr Q. 31 oG Q. 35 (294) ©%
QPN (POD0E.

In an University, the strength of male students is 1500, Female students is 1200
and Faculty is 250. The distribution of percentage of strength in various subjects are
given in the following barchart.

2.8 D3 Az0H0, Hff Ao Sow: 1500, Haree e Hop;
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Which of the following is the maximum?
808 ¢3S HBRN0 DO?

Options :

Number of female students in chemistry department
| % SR derrosS e dorshe Sows



Number of female students in Botany department
5 ¢ T Jeriiody Sdrer dersthe dows

Number of faculty teaching Management

, x DL DO B3DOR 53R Howdg

Number of male students in chemistry department

4w TR DerifoS i DoEsde> Hoays
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Zoology students pay an annual fee of Rs. 25,000 each. The average salary of
each Zoology faculty member is Rs.10,000 per month. What percentage of the
fees collected are paid towards salary for the faculty?

23068 T (2Pare)2d) doriden 0% e Gr. 257,508 25,000. (e
23060 T Q(2Fr02d) aﬂéé} ZD1R e 22650 T 6r.10,000. oSedTeN
Do 22 D0 TS0 earrzHBe Berds TOTH?

Options :

1. 56%

L« 51%

s % T1%



47%
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What is the ratio of the number of students taking Maths, Physics and chemistry
to that of students taking Botany, Zoology and languages, after rounding off the
respective totals to nearest 1007

W oy §I ot LE4
He3eb0, 235 DO 3R VO Aerzde dows, D), erareed
“ i = By B W, W, A ¥
SHOOSN EPOT BN S3eNHT DWEDO HoW Y, D0DODH JNTLD
0% 1008 S0 TR TP geb D) )0eh?

Options :

i flomy
1.4
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In which Department is the ratio of faculty to students, the lowest?
ETEHEIO DD VT shedr DA & V2P0 eoehser Y0P &0A?

Options:
Botany
Chengistry

2. Sl
Language

3 % CARAY

None of the above
. HE3S A B
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If 25% of the faculty members teaching management are absent for a particular
academic year, then approximately how many faculty will be available for every
batch of 40 students of Management in that year?

TS ST @TPHNOS’ 25% H0A DY) i 03¢5 )T°R8
AT2D3, & 00563508 T2 0EISR 40 06 DeTeHE) (5
P50 ST D0 O 3P5EE) @0tereneS Gotrs?
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1.4 3
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ASCI| stands for ?
o). GoR.P.5.0 &b

Options :
v American Standard Code for Information Interchange
American Standard Code for Information Interaction

American Standard Computer for Information Interchange

American Standard Computer for Institutes Interaction
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........ is a private network within an organization.
& BIDD HoPS® b (RIS IEDGY

Options :

Internet
‘|. E

Intranet

3 % Ethernet

. Hypernet
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e-Granthalaya is a digital platform developed by the ........
a-foprecir 826 308 Sairth 350

Options :



Ministry of Education
g $00(@E0

Ministry of Finance
@gé oo (@&

Ministry of Electronics and Communication
3 v JelgelEY), ém@&éa‘i@ oolB&o

Ministry of Mines

4 % Ko oG
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RAM means ........
TPal &Mre

Options :

Random Access Memory
1.¢

Rapid Access Memory

3 % Remote Access Memory



4. * None of the above
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Which is an example of a cloud-based file storage service?
8155 706 DO o eagedSs %?T:rﬁ& 5% GoeseS?

Options :

Whatsapp

Mozilla Firefox
2. %

» Dropbox

 Instagram
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The target year for achieving the Sustainable Development Goal is...
ReBe E:-éj&'ﬁe:@ e A=Y ﬁj&?&%é Lo Bo

Options :

2025
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Which of the following statements is true about global warming?
(H%05 BBHSE® K HIDD O (HAFED HOGDHSH?

Options :

Global warming has led to large scale deforestation
(HHoS B DY BB e BN 68208

1. %

Global warming has led to a rise in the sea levels

5 o B0 ST [ 5;03}@ 25HHdes obdHoH



Global warming has led to a rapid increase in the population across
several countries

i (202003 J8 DG Bed® morer JKHod HHEOD orbH20H

Global warming has led to a huge amount of waste generation

. (5505 B g6 Eéejmv LA 08208,
4, s
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Which of the following gas affects human health by reducing the blood's ability to
carry oxygen to different parts of the body?
e D EB%errred @Kh}éﬁ% BESED é@oﬁ} VYR fjﬁﬁﬁﬂéﬁa =

B arding (Herdédo 3@0&

Options:

Carbon monoxide
5?@5 SnoeenG
1. ¢ s

Carbon dioxide

5 % 590 8 ©8)6

Sulphur dioxide

3 % Senb 8 w86

Nitrous dioxide

4 % 3 5%
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The National Institute of Disaster Management (NIDM) was established

80D D) e 0 EDoDDED 36
Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to

all candidates.

Options :

September 23, 2002
Qyoat 23,2002

August 14, 2001
ey 14,2001

October 16, 2003
©S2% 16,2003

August 14, 2004
@r"i‘@ﬁ 14,2004
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Where was the first International Earth Summit held?
B Al) @Dﬁﬁmgécﬁj Zedpoe(id HHrado 28R “{mjrs_ao

Options :

1 % Kyoto

5 Rio de janeiro

New Delhi
3_ W

New Yark
4. %
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What do you mean by ‘Shastras’?
Fo|deen e

Options :

Creative literature
aard)E Jeardio
el =



Learned disciplines
> & BB Boleen

Imaginative

L x ST

Creative and Imaginative

4 % ﬁ&'\,ﬁﬂ‘jé_ﬁéé, éaﬁééé
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Who was the chairman of NEP 2020 drafting committee?
Q.32 2020 Snaronte @it X% ?

Options :

Kailasavadivoo Sivan

1. %
Dr. K. Kasturirangan
2.
Prof. Yaspal Sharma
3. %

Prof. G. RajaGopal
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Which of the following learning programme originated in India and is considered
as one of the oldest?

230805 (FBododiad, Horsskbmr SBKBoHaE g5 SEEDED B?
Options :

Law
a"r;gdfb GLESTY

Fine Arts
) % ©08 B¥en

Ayurveda
@Cﬁ)}éﬁgﬂﬂ

Management
NBgsTes
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Which is a solution to reduce the progress of climate change?
TERtn S5 HBI ShHoHes HBL)BE

Options:

Greenhouse Gas
DB 208 TN

1. %

Wind Power

5 @ el ¥8

Deforestation
eE38) F{}iﬂﬁéﬂé

Fossil Fuel

4 % Bewa: BOLH
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In which models of Integrated Education Programme is being implemented in
large scale by governmental and non-governmental agencies in India?
R0&05TSEY) (23ghesk, @’}e,’i)é&éeﬁ 50?&@3, Ejﬁg S5, & Bl ey DG

sy S ©EenTmoD.

Options :

Resource model
1 & DB Shoear



[tinerant model

5 % airlEe Sdurae
Both Resource and Itinerant models

580 sHBaSn S Surae
3. v

Dual Teaching Model

8508 8558 B
4, %
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Thesaurofacetwhich is the combination of faceted classification and thesaurus was
designed by:

Options :

Alan Gilchrist
)

2 Jean Aitchison

S. R. Ranganathan
3 %

Tonely & Gee
4. %
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Which one among the following software can be used to build a digital library?
Options :

“ Alice for Windows

LIBSYS



3 % NewGenLib

(Greenstone
4.
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In which of the following sampling methods employed in research, the units

comprising the sample are given equal and independent chance?
Options :

Stage Sampling

5 Cluster Sampling

Dimensional Sampling
3. %

Snowball Sampling
4. %
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Who contributed the SMCR (Source, Message, Channel, and Receiver) Model of
Communication?

Options :

1. Berlo

5 % Shannon-Weaver

Lasswell

“ Osgood-Schramm
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Which one of the following Treaties/Acts allows for copyright exceptions to facilitate
the creation of accessible versions of books and other copyrighted works for visually
impaired persons?

Options :

Marrakesh Treaty
o

Digital Millennium Copyright Act, 1998



TRIPS Agreement

“ WIPO Copyright Treaty, 1996
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The Father of Scientific Management Theory is:

Options :

1% Henri Fayol

5> Frederic W. Taylor

Max Weher

Emile Durkheim
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Inductivism is based on:

Options :
 Numerical data only
1. %
Empirical Observations of a Phenomena
2. %
3 Testing the predictions of a theory
4 % Qualitative data only
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The standard deviation of N observations is given by:
Options :

The square root of the sample size

> % The Variance divided by 2

The square root of the variance



The mean of the sample divided by N
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Explanatory Research is aimed at:
Options :

Describing a phenomena

1. %
5 % Describing the behaviours and relations

3 Describing the phenomena, relations, and why the behaviour is the way it is
4. % Future predictions
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Which of the following are Qualitative data collection techniques?
i. Observation

ii. Sampling

iii. One-to-One Interview

iv. Focus Groups

Codes:

Options :

i, ii, and iii are correct
1. %

i, iii, and iv are correct

2. ¥
~diiand iv are correct
3.
i, i, and iv are correct
4, ®
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Arrange the following phases of Indexing in a logical order.
i. Content Analysis

i) Assigning Descriptors

iii) Identifying Key concepts

iv) Search & Retrieval

Codes:

Options :

iii, iv, i, and i



iv, ii, iii, and i

i, ii, iv, and iii

i, iii, i, and iv
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Tag No.300 is used in the MARC-21 standard for recording which one of the following
bibliographic data field information?

Options :

1% Title

Edition
2. %

Publishers, distributors, etc
3. %

Physical description
4.
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Who propounded the ‘Minimal, Middling, and Maximum Theories of Reference
Service'?

Options :

lames | Wyer
1. %

Samuel Rothstein

S R Ranganathan
3 %

Samuel Green
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Match the following information systems/databases with their corresponding
organizations.

LIST-I LIST-II
(Information Systems/databases) (Organizations)
1. INIS a. FAO
2. INSPEC b. IAEA
3. ERIC c. U. S. Dept. of Education
4. AGRIS d. Institution of Engineering and
Technology

Codes:



Options :

1-c, 2-a, 3-b, 4-d
1. %

1-c, 2-b, 3-a, 4-d
2. %

1-b, 2-c, 3-a, 4-d

1-b, 2-d, 3-c, 4-a
o
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Match the following management concepts with the associated persons.

LIST-I LIST-1I
(Management Concepts) (Persons associated)
1. SWOT Analysis a. Robert S McMNamara
2. POSDCORB b. Albert Humprey
3. PPBS c. Peter Phyrr
4. /BB d. Luther Gullick and Lyndall Urwick
Codes:
Options:

1-c, 2-a, 3-b, 4-d

5 1-b, 2-d, 3-3, 4-c



1-b, 2-c, 3-a,4d
%

1-a, 2-d, 3-c, 4-b
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Match the following databases with their respective subject field.

LIST-I LIST-HI
(Databases) (Subject field)
1. SciFinder a. Engineering and Technology
2. INSPEC b Agriculture and Veterinary Sciences
3. CAB Abstracts ¢. Biomedical and Pharmaceutical Sciences
4. EMBASE d. Chemistry
Codes:
Options :

1-c, 2-a, 3-b, 4-d
®
> % 1-c, 2-b, 3-a, 4-d

1-b, 2-¢, 3-a, 4d
#®

1-d, 2-a, 3-b, 4-c
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Match the following Institutions/organizations with the databases/services offered by

them.
LIST-I LIST-II

(Institutions/Organizations) (Databases/Services)

1. BLLD a. NUCSSI

2_NIC b. Factual Data

3. NIScPR c. WorldCat

4 OCLC d. Document Supply Service
Codes:

Options :

1-d, 2-b, 3-a, 4-c
o

1-c, 2-b, 3-a, 4-d

3 % 1-b, 2-c, 3-a, 4-d

1-a, 2-d, 3-c, 4-b
e
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No

Correct Marks : 2 Wrong Marks : 0



Arrange the following publications of S R Ranganathan in the order of their first
publication year.

i) Classified Catalogue Code

ii) Colon Classification

iii) Prolegomena to Library Classification
iv) Five Laws of Library Science

Codes:

Options :

iii, iv, i, and i
iv, ii, iii, and i
3 % i, iv, i, and iii
iv, i, i, and iii

Question Number : 69 Question Id : 51714410419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Catalogue Codes in the order of their evolution.
i. British Museum Code

i) Jewett's Catalogue Code

iii) Rules for Dictionary Catalogue Code

iv) Anglo-American Code

Codes:

Options:

1 & i, i, iii, and iv



L x Wil i, and

i, ii, iv, and ii

v, i, dii, and i
4, #

Question Number : 70 Question Id : 51714410420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Sections in the order as recorded in the main entries, as per
the Classified Catalogue Code rules.

i. Heading Section

ii) Title Section

iii) Leading Section

iv) Tracing Section

Codes:

Options:

iii, iv, i, and i
iv, ii, iii, and i
iii, i, ii, and iv

3. ¢

i, i, iii, and iv



Question Number : 71 Question Id : 51714410421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Arrange the following IPR/Copyright Laws /conventions or treaties in the order of
their emergence,

i. TRIPS Agreement

i) WIPQO Copyright Treaty

iii) Universal Copyright Convention

iv) Berne Convention for Protection of Literary and Artistic Works

Codes:

Options :

iii, iv, i, and i

iv, iii, i, and ii

i, ii, iv, and iii

i, i, 1ii, and iv

Question Number : 72 Question Id : 51714410422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0
Which one of the below is the largest library in the world?

Options:

The British Library, UK

The Lenin Library, Russia
2. %

The National Library, India

The Library of Congress, U.5.A.
4.9

Question Number : 73 Question Id : 51714410423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): BIBFRAME is designed to replace MARC-21 which is an international
bibliographic standard.

Reason (R): BIBFRAME is aimed at evolving bibliographic description standards for
the future bibliographic description to a linked data model, that is for both web
resources and networked resources and other digital information resources.

Options:
(A} is True but (R) is false

(A} is False but (R) is True



Both (A) and (R) are True

Both (A) and (R) are False

Question Number : 74 Question Id : 51714410424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

PMC (PubMed Central) is a/an:
Options :

Free archive of full-text biomedical literature

Open archive of life sciences citations

Free archive of biomedical and life sciences full-text literature
3. %

Free archive of biomedical, life science, and chemical sciences full-text
Literature

Question Number : 75 Question Id : 51714410425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

The book selection principle ‘To provide the right book to the right reader at the right

time' is given by:
Options :

1% Melvil Dewey

Francis Drury

L. R. McColvin

S. R. Ranganathan
4. =

Question Number : 76 Question Id : 51714410426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Match the following plagiarism types with their Characteristics.

LIST-I LIST-II
(Type of Plagiarism) (Plagiarism Characteristics)
1. Mosaic Plagiarism a. Copying other's work and claiming it as one's
own
2. Clone Plagiarism b. Patchwork plagiarism
3. Global Plagiarism c. Reusing one’s own work fully or partially

without attribution

4. Self-Plagiarism d. Taking someone's work and passing it as
one’s own

Codes:



Options :

~ 1-c, 2-a, 3-b, 4-d
1. %

1-b, 2-a, 3-d, 4-c

1-b, 2-¢, 3-a, 4-d

1-a, 2-d, 3-c, 4-b

Question Number : 77 Question Id : 51714410427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Match the following Commissions and Committees on Libraries and Education and

their respective year of institution.

LIST-I LIST-II
(Commissions/Committees) (Year of Institution)
1. Sinha Committee on Libraries a. 1892
2. Mudaliyar Commission for b. 1986

Academic Libraries
3. National Policy on Library c. 1957
and Information System
4, Hunter Commission on d. 1952-53
Libraries
Codes:
Options :

1-c, 2-d, 3-b, 4-a
1.4



1-c, 2-b, 3-a, 4-d

1-b, 2-c, 3-a, 4-d

1-a, 2-d, 3-c, 4-b

Question Number : 78 Question Id : 51714410428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Open Educational Resources (OERs) are meant for broadening access
to information or equalizing access to disadvantaged and advantaged

people of the world.

Reason (R): OERs though openly licensed and freely available publications, they do
not allow for editing and bringing out their better and updated versions.

Options :

(A) is True but (R) is false
1.4

(A) is False but (R) is True
2. %

Both (A) and (R) are True

Both (A) and (R) are False



Question Number : 79 Question Id : 51714410429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Table-6 in the auxiliary tables of Dewey Decimal Classification deals with:
Options :

1 % Groups of Persons

Languages
2 4 guag
3 Individual Literatures

Racial, Ethnic, and National Groups
4, %

Question Number : 80 Question Id : 51714410430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
The hypothesis ‘There is no significant difference between the young and old

academics in using e-resources in academic institutions’ is an example of:
Options :

Seminal Hypothesis
1. %



Hypothesis of Difference

Hypothesis of Association

3. %

Null Hypothesis

Question Number : 81 Question Id

: 51714410431 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

According to the Normative Principles of Library Science of S R Ranganathan, the

‘Law of Parsimony’ pertains to:

Options:

Basic Laws
1. %

Fundamental Laws

Principles of Helpful Sequence

Principles of Facet Sequence

Question Number : 82 Question Id

: 51714410432 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Who developed the motivational model theory called ‘The Three Needs Theory' that
attempts to explain how the needs for achievement, affiliation, and power
affect the actions of people?

Options :

Maslow

Herzberg

McGregor
3. %

McClelland
4.

Question Number : 83 Question Id : 51714410433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The Chairman of the “Working Group on Library and Information Science Education,
Training and Research of the National Mission on Libraries is:

Options :

Prof P B Mangla
1. %



Prof AR D Prasad
2. %

Prof C R KariSiddappa
3. %

Dr KalpanaDasgupta
4, %

Question Number : 84 Question Id : 51714410434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The updated UNESCO-IFLA Manifesto on Public Libraries was brought out in the year:
Options:

1549

1994

2012

2022

Question Number : 85 Question Id : 51714410435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

ASSERTION (A): A Schedule tool in the survey method of research helps the
researcher to get information mostly from illiterate respondents.

REASON (R): In the Schedule Method, the onus of filling the questionnaire usually
lies with the respondents.

Options:

(A) is False but (R) is True

(A) is True but (R) is false
2. ¢

Both (A) and (R) are True
3 %

Both (A) and (R) are False
4, %

Question Number : 86 Question Id : 51714410436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Sugamya Pusthakalaya is the largest online library aimed at serving the people of:
Options :

Physically Challenged



Mentally Challenged

Blind and Print Disabled
3. ¥

Hearing Impaired and Dumb
4. ®

Question Number : 87 Question Id : 51714410437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Who introduced the Six Sigma technique of improving manufacturing quality?
Options :
Jack Well

1. %

5 % Peter F. Drucker

Philip B. Crosby

4 & Bill Smith

Question Number : 88 Question Id : 51714410438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

In the context of KWIC (Keyword in Context) indexes, which of the following are

relevant?

I Keywords in the title are used as access points

il. All the keywords of the title are displayed in each entry along with the
approach keyword to serve as the context of the document

ii. Bibliographic details of the document are provided for each entry

iv. Document location number such as Accession Number/Call Number is

provided in all the index entries prepared for the document.

Codes:

Options :

i, ii, and iii are correct

1. %

i, iii, and iv are correct
2. %

iii and iv are correct
3. ®

i, ii, and iv are correct
4 ) r ?

Question Number : 89 Question Id : 51714410439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Match the following databases with their respective vendors/publishers.

LIST-I LIST-II
(Databases) (Publishers/Vendors)
1. Scopus a. American Chemical Society
2. Web of Science b. Clarivate
3. SciFinder c. Elsevier
4. PubMed d. NLM-NCBI
Codes:
Options :
1-c, 2-a, 3-b, 4-d
1. %

1-c, 2-b, 3-a, 4-d
o

3 % 1-b, 2-¢, 3-a, 4-d

1-a, 2-d, 3-c, 4-b
4, %

Question Number : 90 Question Id : 51714410440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Match the following Indicator digits used for auxiliary tables in UDC

LIST-I LIST-II
1 Place a. =
2. Time b. (0...)
3 Form C. S
4 Language d. L.}
Codes:
Options :

1-c, 2-b, 3-a, 4-d

1. %

1-d, 2-c, 3-b, 4-a
2. %

1-b, 2-c, 3-a, 4-d
3 %

1-a, 2-d, 3-c, 4-b

4. ®

Question Number : 91 Question Id : 51714410441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Match the following Public Library Acts of Indian states with their corresponding year
of enactment.

LIST-I LIST-II
(Public Library Act) (Year of Enactment)
1. Karnataka Public Libraries Act a. 2006
2. Bihar Public Libraries Act b. 1965
3. Rajasthan Public Libraries Act c. 2008
4. Orissa Public Libraries Act d. 2001
Codes:
Options :
1-c, 2-a, 3-b, 4-d
1. %
1-c, 2-a, 3-d, 4-b
2. %
1-b, 2-c, 3-a, 4-d
3. ¥
1-a, 2-d, 3-c, 4-b
4. ®

Question Number : 92 Question Id : 51714410442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Match the following Indexing Systems with their respective propounders.

LIST-I LIST-N

(Indexing System) (Propounder)
1. Automatic Indexing a. G. Bhattacharya
2. SUC Indexing b. John R. Sharp
3. Citation Indexing c. HP Luhn
4, POPSI Indexing d. Frank Shepard
Codes:

Options :

1-c, 2-b, 3-d, 4-a
1.4

1-c, 2-3, 3-d, 4-b
2. %

1-b, 2-¢, 3-a, 4-d
3 %

1-a, 2-d, 3-c, 4-b

Question Number : 93 Question Id : 51714410443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Arrange the following elements/sections of bibliographic description in a
bibliographic record, as per the ISBD (G) specifications.

i. Title and Statement of Responsibility

ii) Publication, Distribution, etc.

iii) Physical Description

iv) Edition

v) Material (or type of Publication) Specific Details

Codes:



Options :

v, iv, i, ii, and iii

i, iv, v, ii, and iii

i, ii, iv, v, and iii

i, i, iv, iii, and v

Question Number : 94 Question Id : 51714410444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Libraries avail cloud services provided by Amazon, Google, and
Derwent
Reason (R): Libraries want to avoid the maintenance problems of hardware by opting

for cloud services.

Options :

(A) is True but (R) is false
1. %

(A} is False but (R) is True
2.9

Both (A) and (R) are True
3. %



Both (A) and (R) are False
4, %

Question Number : 95 Question Id : 51714410445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): RDA (Resource Description and Access) has been brought out to
supersede the AACR-2 Catalogue Code
Reason (R): AACR-2 was primarily intended for the cataloguing of traditional library

resources but not for digital and web resources.
Options :

(A) is True but (R) is false

(A) is False but (R) is True

2. %
3 Both (A) and (R) are True

Both (A) and (R) are False
4, %

Question Number : 96 Question Id : 51714410446 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0
NIScPR of CSIR stands for:

Options :

Mational Information of Science and Public Relations

1. %

National Information and Science Communication for Public Research
2. %

MNational Institute of Science Communication and Policy Research
3. %

National Information for Science Communication and Policy Research

Question Number : 97 Question Id : 51714410447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following fall in the scope of Intellectual Property Rights:
i. Patents

ii. Film Censorships

ii. Biofuels

iv. Trade Marks

Codes:

Options :

i, ii, and iii are correct
1. %

i, iii, and iv are correct



ili and iv are correct

i and iv are correct
4.

Question Number : 98 Question Id : 51714410448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following are used in the Koha open-source software?
i. Apache Web Server
ii. M5 SQL
iii. Perl Programming Language
iv. Linux Operating System
Codes:

Options:

i, ii, and iii are correct
1. %

i, iil, and iv are correct

i, iii, and iv are correct
3. %

ii, iii, and iv are correct
4. ®



Question Number : 99 Question Id : 51714410449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The duration, a patentee can hold patent rights on his/her invention in India is:
Options :

20 years
1.+

25 years

40 years

60 Years

Question Number : 100 Question Id : 51714410450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

Subject Added entries/Topical Term entries are recorded in the MARC-21 records at

Tag No.

Options:

600

1. %



650

2.V

680
3. %
4 % 690

Question Number : 101 Question Id : 51714410451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The lowest component layer of the TCP/IP Internet Protocol is:

Options :

Data Link layer

Internet layer

Transport layer

Application layer

Question Number : 102 Question Id : 51714410452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following are not the citation management tools?

i MySpace
ii. Google Scholar
iii. Zotero
iv. Mendeley
Codes:
Options :
i, ii, and iii are correct
1. #
i, iil, and iv are correct
i, and ii are correct
3. v
i, and iil are correct
4, %

Question Number : 103 Question Id : 51714410453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which of the following are Academic Social Networks?
k- ResearchGate
ii. Publons

iii. Facebook
V. Twitter

Codes:

Options :

i, ii, and iii are correct

1. %

ii, iii, and iv are correct
2. %

i, and ii are correct
3. %

i, and iii are correct

Question Number : 104 Question Id : 51714410454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): All the online databases comply with the Z39.50 protocol.

Reason (R): Z39.50 is a national/ international standard protocol for search and
retrieval of information/records from different databases such as bibliographic,
abstracting & indexing, and full text.

Options :

(A) is True but (R) is false
1. %



(A} is False but (R) is True
2. %

Both (A) and (R) are True

Both (A) and (R) are False
4. %

Question Number : 105 Question Id : 51714410455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the objectives/functions of the Raja Rammohun Roy
Library Foundation (RRRLF)?

i. Supporting public library movement, systems, and services
ii. Helping in building a national library system
iii. Providing financial and technical support to school and public libraries

iv. Advising the government on matters of library development in India.
Codes:

Options :

i, ii, and iv are correct
1. ¢

i, ii, and iii are correct



i, and iil are correct

Question Number : 106 Question Id : 51714410456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

SWAYAM Stands for:
Options :

Study Webs for Active-Learning for Young Aspiring Minds
1.4

Study Webs for Active and Young Aspiring Minds
2. %

Social Web for Active and Young Aspiring Men
3. %

Study Webs for Authentic-Information for Young and Active Minds
4. ®
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Snowball Sampling Technique is afan:

i. Probability sampling technigue

ii. Primary data source nominates the potential data sources
iii. Existing subjects provide referrals to get samples for study.
iv. Known as a chain referral sampling technique

Codes:

Options:

i, ii, and iv are correct

ii, iii, and iv are correct

2.

i, ii, and iii are correct
3 %

i, and iii are correct
4,

Question Number : 108 Question Id : 51714410458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Identify the right statement/(s) from the below given.
Statement(A): Patent Law is part of Intellectual Property Law.

Statement (B): Patent Law that gives an inventor the legal right to stop others from
making, using, or selling an invention for the inventor’s lifetime and 50 years
afterward.

Options :

(A} is True but (B) is false
1.¢



(A) is False but (B) is True

Both (A) and (B) are True

Both (A) and (B) are False
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identify the right statement/(s) from the following:

Statement (A): OSl is an eight-layer architecture with each layer having specific
functionality.

Statement (B): All the layers of OSI work independently to transmit data from one

person to another.

Options:

(A) is True but (B) is false
1. %

(A} is False but (B) is True

Both (A) and (B) are True

Both (A) and (B) are False
4, &
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Correct Marks : 2 Wrong Marks : 0

In ASCII, printable characters are found in:
Options:

0-31 codes
1. %

12-122 codes

33-126 codes
3. v

33-127 codes
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Greenstone digital library software is designed at --——-—---—--

Options :

University of Waikato, New Zealand
1. &



School of Electronics and Computer Science, University of Southampton, USA

Dura Space, USA

Cambridge University, Cambridge, UK
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ShodhGangothri is a/an:
Options :

Metadata of theses and dissertations
1. %

Deposit or repository of Synopses of theses
2.9

Full-text database of theses and dissertations
3. %

Portal of Indian theses
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Find the odd one out from the following.
Options :

FORTRAN

COBOL

3 PYTHON

ALGOL
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The General Systems Theory of Communication was proposed by:
Options:
W R Ashby

1. #

Shannon-Weaver



Robert T Craig

W Ludwig VonBertalanffy
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Which one of the following is not an output device?
Options :

Printers

Speakers

Visual Displayers

Keyhoard
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Correct Marks : 2 Wrong Marks : 0

What constitutes a Nibble?
Options :

A group of 4 bits

A Group of 8-bits

2. %
3 A Group of 16-bits
4 % A group of 32 bits
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The Wealth of India—An Encyclopaedia of India’s raw material resources is brought

out by:

Options :

NIScPR
1.4

DESIDOC

NAS5SSDOC

3. %



SENDOC
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Which one of the following devices is used for strengthening the signals in data
transfer?

Options :

Firewalls

Hubs

Switching Pockets

Repeaters
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Match the following software systems with their applications.

LIST-I LIST-1I
(Software System) (Application)
1. Ubuntu a. Anti Plagiarism
2. Turnitin b. Web design
3. EndNote c. Open-Source Operating System
4. WordPress d. Reference Management system
Codes:
Options :
_ 1-c, 2-a, 3-b, 4d
1. %
1-c, 2-a, 3-d, 4-b
2. %
1-b, 2-c, 3-a, 4-d
3 %

1-a, 2-d, 3-c, 4-b
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Match the following file formats with their file extensions.

LIST-I LIST-1I
(File formats) (File extensions)
1. Image files a. .mpeg4
2. Audio files b. .mp3
3. Video files C. Jpg
4. Document/Word files d. .docx

Codes:



Options :

1-c, 2-a, 3-b, 4-d
1. %

1-c, 2-b, 3-a, 4-d
2.9

1-b, 2-c, 3-a, 4-d
3. %

1-a, 2-d, 3-¢, 4-b
4, %
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Arrange the following units of computer memory in the decreasing order of their
capacity.

i. Exabyte

ii) Zettahyte

iii) Petabyte

iv) Terahyte

Codes:

Options :

i, v, i, and i

iv, ii, iii, and i

i, i, iv, and iii



i, i, iii, and iv
4.
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Arrange the following stages/processes of library automation
i. Design Stage

ii) Planning Stage

iii) Operational Stage

iv) Evaluation & Feedback stage

Codes:

Options :
i, i, iii, and iv

1.4

v, ii, iii, and i
2. %

I, i, iv, and iii

i, i, iv, and iii
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Correct Marks : 2 Wrong Marks : 0

Arrange the four cardinal points of the cycle of the Spiral of the Scientific Method as
stipulated by S R Ranganathan.

. Nadir

ii) Zenith

iii) Ascendant

iv) Descendant

Codes:

Options :

i, i, iii, and iv

v, ii, iii, and i
2. %

i, iii, ii, and iv

i, i, iv, and ii
4, =%
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Assertion (A): Virtual Reference Services of university libraries provide students,
faculty members, and the scientific community with more convenient and immediate

access to reference assistance.
Reason (R): Distance education students and faculty members of a university may

not have to physically step into the library to avail of the virtual reference services.

Options :



(A) is True but (R) is false

(A) is False but (R) is True
2. ¥

Both (A) and (R) are True

Both (A) and (R) are False
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Identify the right statement (s) from the below given statements.
Statement (A): 4G is the fourth generation of mobile cell phone communication
standards.

Statement (B): IP Telephony is the characteristic feature of 4G mobile cell phones.

Options:

o (A) is True but (B) is false

(A) is False but (B) is True

3 Both (A) and (B) are True



Both (A) and (B) are False
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The characteristic(s) of Reference books are:

i. Designed to be consulted for information on a specific topic or range of topics

ii. Primary sources for teaching a particular subject in a classroom

iii. Designed to provide students with a comprehensive and structured overview of a
specific subject

iv. They include exercises and practice problems

Codes:

Options :

i, ii, and iii are correct
1. %

i, iii, and iv are correct
2. %

iii and iv are correct

i only
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Correct Marks : 2 Wrong Marks : 0
Library collection development is a multifaceted process that involves:

i. carefully curating and acquiring resources to meet the diverse needs of library

USErs

ii. Establishing selection criteria for information resources
iii. Assessing user needs

iv. Weeding out strategies

Codes:

Options:

i, ii, and iii are correct

1. %
2. % ii, iii, and iv are correct
3 % i, iii, and iv are correct

i, il, iii, and iv are correct
4,
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‘The Four Pillars of Knowledge Society’ as identified by the UNESCO are:
Freedom of expression, universal access to information and knowledge, respect for

cultural and linguistic diversity, and --—--

Options :



Good governance

Quality of education

Quality of information

Quality users of information
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The MN-LIST stands for:
Options :

National Library and Information Science Technologies
1. %

Mational Library and Information Services Technologies

National Library and Information Services for Scholarly Content

National Library and Information Services Infrastructure for Scholarly Content
4. &
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Assertion (A): OCR technology helps the people with dyslexia.

Reason (R): It recognizes/converts text inside images, scanned documents, and
photos Into machine-readable text data and helps in reading out for visually
impaired persons

Options:

(A) is True but (R) is false

1. %
(A) is False but (R) is True
2. ®
Both (A) and (R) are True
3. %

Both (A) and (R) are False
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Assertion (A): Digital Rights Management technologies protect copyrights of
copyrighted resources/ files of various formats and forms.

Reason (R): Digital Rights Management technologies prevent the digital copyrighted
content from being shared or distributed across channels and copied without explicit
permissions from the copyright holders.

Options :

(A) is True but (R) is false

1. %

(A) is False but (R) is True
2.9

Both (A) and (R) are True

Both (A) and (R) are False
4, %
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Assertion (A): All colleges in India including engineering, medical, pharmacy, etc. can
avail of the N-LIST resources on a prescribed subscription charge.

Reason (R): The INDEST and UGC-INFONET are jointly responsible for providing the N-
LISTresources to benefit the colleges in India.

Options :
1 % (A) is True but (R) is false

(A) is False but (R) is True
2.9



Both (A) and (R) are True

Both (A) and (R) are False
4. =
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Arrange the following motivational needs from lower to higher levels, as per
Maslow’s Theory of the Human Motivational Model.

I. Social Needs

ii) Esteem and Status Needs

iii} Self-actualization Needs

iv) Safety and Security Needs

Codes:

Options :

| s iy ii, i, and v

iv, i, ii, and i

2. ¥

i, ii, iv, and i

i, i, iv, and i
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Match the following library associations with their corresponding year of
establishment:

LIST-I LIST-II
(Library Association) (Year of Establishment)
1. IASLIC a. 1969
2. |ATLIS b. 1914
3. APLA c: 5
4. SIS d. 1955
Codes:
Options :

1-a, 2-c, 3-b, 4-d

1-b, 2-c, 3-a, 4-d

1-b, 2-c, 3-a, 4-d

1-d, 2-a, 3-b, 4-c
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Correct Marks : 2 Wrong Marks : 0
Information Literacy Competency Standards for Higher Education is prepared by:
Options :

UNESCO

ACRL Task Force
2.9

IFLA

“ US Council on Library Resources
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Commonwealth Universities Yearbook is a/an:
Options:

Handbook

5 % Concordance

Yearbook



Directory
4, &
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Keesing’s Directory of World Events is a/an:
Options :

Travel Guide

1. %

Gazetteer
2. %

News Digest
3.

Directory
4, %
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The Indian Citation index (CIl) is developed by:



Options :
Knowledge Foundation

1.4

SRELS

MNational Science Library

4 % IASLIC
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The publisher of the Statesman’s Yearbook 2023 is:

Options :

Palgrave Macmillan

H W Wilson

McGraw-Hill

Whitaker & Sons
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Assertion (A): Web of Science has a stronger citation records strength than the

Scopus database.

Reasoning (R): Web of Science coverage of citations is better in biological sciences

and physical sciences than Scopus.
Options :

(A) is True but (R) is false

1. %

( A) is False but (R} is True
2.9

Both (A) and (R) are True
3. %

Both (A) and (R) are False
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ShodhChakra — ‘a Gateway to Researchers to Resources’ is the initiative taken by

which one of the following organizations/institutions?



Options :

Ministry of Education

INFLIBNET
2. ¥

Association of Indian Universities

Association of Commonwealth Universities
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Which of the following criteria are appropriate to follow in evaluating web/online
resources?

I. Authorship

ii. Currency and Relevance

iii. Printers’ reputation

iv. Objectivity & Accuracy

V. Links to References

Codes:

Options :

i, ii, iii, iv, and v are correct

ii, iii, iv, and v are correct



i, ii, iv, and v are correct

i, ii, and iv are correct
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Match the following Creative Commons copyright license symbols with their

appropriate licenses.

LIST-I LIST-II
(CC Copyright Symbol) (CC Copyright licenses)
1. CCBY-ND a. Copyleft or free licenses
2. CCBY-NC b. Commercial use and Derivatives are not
allowed
3. CCBY-SA c. Derivatives not permitted
4., CCBY-NC-ND d. Not permitted for Commercial use purposes
Codes:
Options :

1-a, 2-c, 3-b, 4-d

1-c, 2-d, 3-a, 4-b

1-b, 2-c, 3-a, 4-d

1-d, 2-a, 3-b, 4-c
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Assertion (A): Open Access publishing is the new trend of publishing to overcome the

problem of high costs of proprietary publications.

Reason (R): Open Access Gold is the major publishing trend in the current times.

Options:

(A) is True but (R) is false

(A) is False but (R) is True

Both (A) and (R) are True

Both (A) and (R) are False
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Match the following knowledge type with its corresponding concept/meaning.

LIST-I LIST-II
(Knowledge type) (Knowledge concept)
1. Declarative Knowledge a. knowledge that has the ability to understand

narratives, and meanings of words in
different contexts

2. Tacit Knowledge b. knowledge typically stored in documentation or
databases
3. Semantic Knowledge ¢. Intangible information/knowledge such as
experiences held in the minds of people
4. Meta Knowledge d. Knowledge about knowledge
Codes:
Options :

1-b, 2-c, 3-a, 4-d
1.4

1-c, 2-b, 3-d, 4-a
2. %

1-b, 2-c, 3-a, 4d
%

1-a, 2-d, 3-¢c, 4-b

4, %
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Question Numbers : (146 to 150)



Question Label : Comprehension

(NOTE: Read the following passage and answer the questions from Q. No. 14610 150 ).

Embedded librarianship is most commonly associated with undergraduate and distance
education. Drewes and Hoffman (2010) explained that “embedded librarian programs often
locate librarians involved in the spaces of their users and colleagues, either physically or
through technology in order to become a part of their users’ culture”, In other words, the LIS
professional becomes an extension of the teaching function of an academic department or
unit and part of its social structure. Embedded librarians might contribute to the creation of
instructional modules for either face-to-face or online courses, provide in-depth research
assistance to students or faculty, and hold office hours (Schulte, 2012). In some instances,
the librarian is available electronically through the course management system. Embedded
librarians might also provide personalized functions in-person or online, including tutorial
services, produce interactive guides and links, and perform chat functions. In order for such
programs to succeed, the participating LIS professionals must have excellent communication
and interpersonal skills, a strong service ethic, a flexible and creative disposition, and enjoy
collaboration (Drewes and Hoffman, 2010). By becoming part of the local or online
community, the academic librarian is more likely to be perceived as part of the learning
team, a faculty collaborator, and instrumental in the academic program’s success. Hamilton
(2012) summarized the significance of embedded librarianship well “As information literacy
becomes an essential literacy and form of cultural capital in today’s world, embedded
librarianship offers exciting possibilities for teaching these processes and skills within content

area study over an extended period of time.

Sub questions

Question Number : 146 Question Id : 51714410497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

What contributions a Library and Information professional can make as an
embedded librarian?

Options :

1.4



Personalised services like tutorial services, producing interactive guides, links,

and performing chat functions

Personalized functions like tutorial services either in person or online
2. %

Creating a Digital Library
3. %

Join in Consortia to reap its wider resources

Question Number : 147 Question Id : 51714410498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

How an academic librarian be perceived for becoming part of an online community?

Options :
| % As a Faculty Member

As Part of the learning team
2. %

As Faculty collaborator, part of a leaming team, and instrumental in the
success of academic programs

As Advisor for academic programs’ success
4, ®



Question Number : 148 Question Id : 51714410499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

In the present-day world, which kind of literacy is felt essential for library users?
Options :

Media Literacy
1. %

Computer Literacy
2. %

| T Literacy
3. %

Information Literacy
4. ¥

Question Number : 149 Question Id : 51714410500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

What are the characteristics/skills needed for the successful conduct of embedded

librarian programs?
Options:

Service ethics, a flexible and creative disposition, and enjoying collaboration
1. %



Communication and interpersonal skills

Communication skills, interpersonal skills, collaboration skills, etc.

Information Literacy skills

Question Number : 150 Question Id : 51714410501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

What contributions an embedded librarian can make in educational institutions?
Options :

Creation of institutional modules

Design of Face-to-face or online courses

In-depth research assistance to students and faculty members

P All the above



